2013-01-20 to 2014-01-20

0.0 T THERS ST T
Ssflges osg™ o “
= LN
Cl_) * . ..0.::3:"':-::. :'
S -1.0 B SO
L|q—) °
O
O
E -2.0
7
=
o
= -3.0
o
-4.0
2.0 4.0
log degree
all others
2015-07-22 to 2016-07-21
0.0 s e
- .
Q
O
T 2.0 :
O A A,
O AA AA
5
= .
=)
S -4.0
o
o
2.5 5.0
log degree
all others + neighbor
2018-01-20 to 2019-01-20
0 e e o g ogoesansporn e s
’ N
= SRR LU T
Cl_) '3 ....'5. - s
O e e,
O - .
3 2.0
O .
o .
7
=
o -4.0
o
o
2.0 4.0
log degree
all others + neighbor

6.0

6.0

7.5

8.0

0.0

-1.0

-2.0

-3.0

log cluster coefficient

0.0

-2.0

-4.0

log cluster coefficient

—-6.0

0.0

—-2.0

log cluster coefficient

2013-0/-21to 2014-07-22

. 7 A = .. \ \
i |ﬂ|l|;.; %,t%f
*P o .‘.‘,;. ::.. L
° ‘o::ﬂ N :.o
. “A.“...t‘A .
. G
2.0 4.0 6.0
log degree
all others + neighbor

2016-01-21to 2017-01-20

7 '3 s

° > » o>

2.5 5.0
log degree

all others + neighbor

2018-0/7/-22 to 2019-07-22

2.0 4.0
log degree

all others + neighbor

6.0

7.5

0.0

-1.0

log cluster coefficient

0.0

—2.0

-4.0

log cluster coefficient

—-6.0

0.0

-1.0

-2.0

-3.0

-4.0

log cluster coefficient

-5.0

2014-01-20 to 2015-01-
‘ sm mi;- 2

2.0 4.0
log degree

all others + neighbor

2016-0/-211t0 2017-07-21

2.5 5.0
log degree

all others + neighbor

2019-01-20 to 2020-01-21

2.0 4.0
log degree

all others

6.0

7.5

6.0

0.0

-1.0

-2.0

-3.0

log cluster coefficient

—-4.0

0.0

-2.0

log cluster coefficient

—-6.0

0.0

—-2.0

log cluster coefficient

2014-0/7/-22 to 2015-07-22

> » >
>opdp

2.0 4.0 6.0
log degree

all others + neighbor

201/-01-20 to 2018-01-20

)

2.0 4.0 6.0
log degree
all others + neighbor

2019-0/-22 to 2020-07-21

2.0 4.0
log degree

all others

6.0

8.0

2015-01-20 to 2016-01-21

0.0 = -
'IE )
D -10
O
8 20
&)
(T) A 4
+ —3.0 £
=
(@)
o —4.0
O
-5.0
2.0 4.0 6.0
log degree
all others + neighbor
2017-07-21to 2018-07-22
_ 00 - *l;'"a:t!i!“a N "‘&,
- .:a
s = b
‘D 2.0
@
O ‘ .
[ x
5
- 4.0
(@)
O
2.0 4.0 6.0
log degree
all others + neighbor
2020-01-21 to 2020-12-24
0.0 . e o o g oocecccses o oun
- N
- IS L .,
D e :
O :
O -
Q -2.0
O
[
n
=
o —4.0
(@)
O
2.0 4.0
log degree

all others

6.0

8.0



